


Pr=

Er= 12 Volts
Ir=
Rr=
P1= P2= P;=
E1= Ex= Es=
Ii= I= [3=3.25 Amps
R1=50 Ohms R2= R3=

NI—AAN—AAA—

Ps=

Es=

[s=11.01 Amps
Rs=.5 Ohms




Pr=

Er=12 Volts
Ir=
Rr=
P1= P2= P;=
E1= Ex= Es=
Ii= I= [3=3.25 Amps
R1=50 Ohms R2= R3=

NI—AAN—AAA—

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=

Er=12 Volts
I[t=11.01 Amps
Rr=

P1=
Ei=
IL=
R1=50 Ohms

P,=
E;=
I

Rz=

P3=
Ez=
[3=3.25 Amps
R3=

NI—AAN—AAA—

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts
I[t=11.01 Amps
Rr=1.09 Ohms
P1= P2= P;=
E1= Ex= Es=
Ii= I= [3=3.25 Amps
R1=50 Ohms R2= R3=

NI—AAN—AAA—

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts
Er=12 Volts
[y=11.01 Amps E1234=Er-Es = 12-5.51=6.49 Volts
Rr=1.09 Ohms
P1= P2= P;= Py=
E1= Ex= Es= Es=
L= I,= Is=3.25 Amps ly=
R1=50 Ohms R2= Rs= R4= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms

NI AAA—AAN—



Pr=132.12 Watts

Er=12 Volts
Ir=11.01 Amps E1234=Er-Es = 12-5.51 = 6.49 Volts
Rr=1.09 Ohms

P1= P>= P3=

E1= 6.49 Volts E2= 6.49 Volts E3 = 6.49 Volts

L= I2= I3=3.25 Amps

R1=50 Ohms R, = R;=

Ps=

E4s= 6.49 Volts
[4=

Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms

M—AAN——AAA—




Pr=132.12 Watts

Er=12 Volts

I[t=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts Py= P3=
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I2= [3=3.25 Amps
R1=50 Ohms R = Rs=

M—AAN——AAA—

Ps=

E4s= 6.49 Volts
[4=

Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts

I[r=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts P,= P3=21.09 Watts
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I2= [3=3.25 Amps
R1=50 Ohms Rz = Rz =2 Ohms

M—AAN——AAA—

Ps=

E4s= 6.49 Volts
[4=

Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts

I[r=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts P,= P3=21.09 Watts
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I2= [3=3.25 Amps
R1=50 Ohms Rz = Rz =2 Ohms

M—AAN——AAA—

P4=7.01 Watts
E4s= 6.49 Volts
[4=1.08 Amps
Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts

I[r=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts P,= P3=21.09 Watts
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I2= [3=3.25 Amps
R1=50 Ohms Rz = Rz =2 Ohms

L=Ir-I1-I3-14

[ =11.01-.13-3.25-1.08 = 6.55 Amps

N—AAA—AAA—

P4=7.01 Watts
E4s= 6.49 Volts
[4=1.08 Amps
Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts

I[r=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts P>= P3=21.09 Watts
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I=6.55 Amps I3=3.25 Amps
R1=50 Ohms Rz = Rz =2 Ohms

L=Ir-I1-I3-14

[ =11.01-.13-3.25-1.08 = 6.55 Amps

N—AAA—AAA—

P4=7.01 Watts
E4s= 6.49 Volts
[4=1.08 Amps
Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




Pr=132.12 Watts

Er=12 Volts

I[r=11.01 Amps

Rr=1.09 Ohms
P1=.84 Watts P,=42.51 Watts P3=21.09 Watts
E1= 6.49 Volts E2= 6.49 Volts E3; = 6.49 Volts
[1=.13 Amps I=6.55 Amps [3=3.25 Amps
R1=50 Ohms R2=.99 Ohms R3= 2 Ohms

M—AAN——AAA—

P4=7.01 Watts
E4s= 6.49 Volts
[4=1.08 Amps
Rs= 6 Ohms

Ps=60.67 Watts
Es=5.51 Volts
[s=11.01 Amps
Rs=.5 Ohms




